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N.B.: (1) Question I 1s Compulsory.
(2) Attempt any 3 questions out of the rest o
(3) Figure to the right indicate full marks. v
(4) All question carry equal marks. V<
QY
I. Attempt the following: Ag 20
(a) Explain implementation of sequential consistency \gﬁh non
replicating migrating blocks strategy.
(b) Which .Net component makes .NET plattorm aﬁ% language
independent? Exlpain how 1t works. 3
(c) Explain Parameter passing Semantics in RPC
(d) Compare Bully election algorithm with Ring band electlon algorithm.
e
2. (a) Name tour different distributed deadlock detectlon algorithms. Explain 10
probe-based distributed deadloack detectm’n algorithm (CMH) with

example. o
(b) Explain RPC Communication Protoq,(ﬁ 10
.\
9
3. (a) Detfine Happened-Betore relatlo@‘ip. Explain implementation of logical 10
clocks with an example ¥
(b) Describe NET archltecturg Wlth neat labeled diagram 10
4, (a) Explain migrationin !}étéi‘ogeneous system. 10
(b) Explain desirable f@%ﬁres of a good message passing system. 10
5. (a) Explain with respect to EJB -Roles in EJB and types of Beans 10
(b) Explain vari(";us distributed computing models. 10
6  Write notes. on followmg 20

(a) ,_RMI Execution
(b) - Components of EJB framework
{c) Message Buffering in [IPC
. (d) SOA lifecycle



